RTORATRISY EHIIHE™ (aUREIRY, ITIYR

(o f2retr srfeTd WX el 2025)

fayg — wforg HeT—5
1. fIvas] & JMER W) AHIR
®. | IR &/ BId /el | [aug a9 JHIR | Ul & ThR T
4. _ qeq. | aifdery | oy, |
TG TIRATT &1 FHST 7
1 < 1 1 0 2
16
' SiG 1,6,7
2 T KRS 16 2 1 1 4
RIE RIS R 2,34,517
3 24 0 3 0 5
4 T B 10,11,12,13,14,15 25 2 1 1 7
3ffpel Bl Ya=e_ Ud U
5 £ wHe 8,9 8 2 0 0 4
AT 80 7 6 2 22
2. SR & IITARIIBIR
.4 I gl B Gl PR gfererd
1 SIFBRT / TROT 5 7 8.75
2 REE 9 28 35
3 ST 5 27 33.75
4 fageryor 1 6 7.50
5 Hih 1 6 7.50
6 Gl / bIeled 1 6 7.50
T 22 80 100
3. Ul & YHRARIIBIR
B, | TP IRR PESIIEA] IJPUTUIT | TRT3IH gfererd qyrfad
[T T
(min.)
1 TS 7 1 7 8.75 10.00
2 SffTeTeERTHS 7 3 21 26.25 40.00
3 TERTHD 6 6 36 45 60.00
4 [BECINEY 2 8 16 20 30.00
5 W b I B - - — - 10.00
T 22 — 80 100 150
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Subject- Mathematics

T T

Sample Question Paper
@afr —  2:30 GC quTids — 80

Duration 2:30 hours Max.Marks — 80

JTepfd Td T B qHY (3ih—7)
Understanding of shape and space (marks-7)

T 1 AR TS # ISR D 300 g9 TSI DI A 9 °©S B s §RT R0

AT BT B— (1)
(&) =T BIoT (@) AferH PIoT
(@) FHBIOT () TR DI
()
What is the angle made by the hour hand and minute hand of a wall clock
at 3:00pm-
(a) Acute angle (b) Obtuse angle
(c) Right angle (d) Straight angle
[ ]
Ue 2 Aq B TSI H BT F54— (2+2+2=6)
Make the following angles with the help of a protractor-
L gq ﬂﬁW/Acute angle

. 31f% PIv/Obtuse angle

ROUGH WORK
I% Y



U3 3

U 4

UH 5

. R PIV/Straight angle

G S D A (3ih—16)
Understand the number syatem (marks-16)

2 iy 7Ty faaRa wu = g 32— (1)
20000+9000+400+00+3

(31) 29403 () 24903

() 24930 (3) 20943

The number form of the following expanded form is-
20000+9000+400+00+3
(a) 29403 (b) 24903
(c) 24930 (d) 20943
[ ]

0.37 & =1 ¥Y BRT— (1)
37 37
&) 7% @ Too

0.37 .
@) — (@) TH | PIg &I

100

The fraction form of 0.37 is-

37 37

(a) To (b) o
0.37

() — (d) Non of the above
100

[ ]
2§ TS el @ B ¥ I8 (RIE) HH A faRag—  (2+2+2=6)

Write the following numbers in smaller to bigger order (ascending)-

I. 49512, 43905, 39703, 49012
3<X / Ans

Il. 44743, 44734, 44344, 44444
3N / Ans

. 65743, 65456, 66435, 66653
3N / Ans

ROUGH WORK
I%



ued 6 fr=ifoiad weal &t s Hifore— (4+4=8)

Solve the following questions-

I HHAT 9TOR 9 12 <A & |1 98 39 <ifhai &1 6 s=ai
TIER—TRIER steT arsdl 3, a1 W § J&s 9= o foa <
forerfi?

Mamta bought 12 toffees from the market. Now she wants to divide these

toffees among 6 children, then how much toffees will each child get?
3<IX / Ans

Il TP AICIASHe 10 oleX Ugial # 420 fHarfer ¢ 99 & & o
FaTsy & 9% 20 &fiex g # fvat & @ Hn ?

A motorcycle covers a distance of 420 kilometers in 10 liters of petrol, then

find how much will the motorcycle cover the distance in 20 liters of petrol?

3N/ Ans

ifsrarell @1 wHET (3iF—24)

Understanding of the basic mathematics operations (marks-24)

U 7 10 B IR R fIara= fofkae— (1+1+1=3)
. 15 &7 fQgem

. 7 @ fdae™

. 16 @I fage=

Write down the deviation of numbers on base 10-

I Deviation of 15
Il. Deviation of 7

Ill.  Deviation of 16

ROUGH WORK
I%



Ue 8 U 2011 BT SIVMI & SR HICATS] 7Tq H 6324 ARAN TAT 5984
T&Y ©, A IRl Tifg @ o e fbar 87 (3)

According to the census of year 2011, there are 6324 women and 5984 men

in Katarwara village. What is the total population of the village—
3<IX / Ans

U 9 IYAM U A U fIdrell & WISIerd ¥ Sl 8 | 9Ioead 3 Uh
ATell IS BT Yo 125 WY & | FI§ 9 gl A 11 gof ddb g8l 35 Afddl o
Aror T a1 qarsy 35 Afdadl | wol fdha w0 UTad gU? (6)

One day Anshuman went to his father's restaurant. In the restaurant, the cost per
plate is 125 rupees. 35 people has taken the lunch from 9am to 11am. Find how
much money was received from these 35 people have paid.

3N/ Ans

UTT: 10 G B 2 BT H PHAA: 18 olex g 24 oilex gF W 2| I8 W IS gad
BT Y FIT B, S QI DAl & Y DI QR [T AT Fb? (6)

Two milk containers are filled with 18 and 24 litres of milk respectively. What will

be the greatest measurement of a container that can measure total milk of both
the containers exactly.

<IN / Ans

ROUGH WORK
I%



ye: 11 f=foRaa geAl &7 g difsTu— (3+3=6)

Solve the following questions-

1. B gY 3P BT R
Write the missing digits-
4 9 3
“L]s| |
2 5

2. 25 BT UH 3P DI (A G A 0N a1 SY fF IR & 3P89 3Bl
SF @ W R I U 87
Which one digit number is multiplied by 25 to get 0 in both unit and tens
place?
3N/ Ans

AU D F9H (3iH—25)
Understanding of the measurement (marks-25)

Y9 12 5 ®UU H I B B— (1)

(31) 50 @ 5
(&) 500 (&) 5000

5 rupees contains paisa-
(a) 50 (b) 5
(c) 500 (d) 5000
[ ]

U¥: 13 T WG BT oI 10 wUd 50 UH 2, 1 Ul 81 4 AT Pl oI BRT—
(1)
(@) 1050 % (8) 42.00 %
(@) 6050 () 40.00 %
()

The cost price of a soap is 10rs 50p, then what is the cost of 4 soaps.-
(a) 1050 & (b) 42.00 &
(c) 60.50 % (d) 40.00 %
[ ]

ROUGH WORK
I%



ge: 14 3 T 99g @ fAfael § aRafda sifso— (1+1+1=3)
Convert the following in minutes-
1
(i) 25 T T s fafre
1
2 " hours — e, minutes
(ii) 1 % G — oo ffre
1 % hours — . minutes
(iii) 5 § BT — o ffre
5 § hours — minutes

¥ 15 el aIGiR A 1 fBUT 400 ITH THIER, 550 UMW &[T TT 3 5T 200
YT TR TR B AU Il § 3G 2| Feoll | S Il BT IR
IEGIRCEL (3)
Sunita bought 1kg 400 grams tomato, 550 grams coriander and 3 kg 200
grams carrot and put it in her bag. How much is the weight of her bag
increased with vegetables?

3N / Ans

¥ 16 Hell 5 & [Tl gRT ddl g uffar § &l T gRAT &1 A9 39

JhR B— (1% +1%=3 )
AT ARTIT — 1 HIex 20 A<M
e — 1 HIex 10 F<HIER
AT — 1 HIexX 70 AHIER
SEED — 1 #HIex 30 F<HIe
CEIG|) — 1 HIex 50 ACHIER

ROUGH WORK
6 HT



A o g e ) ?

3N / Ans

i. e BH QU fHa war 18?7

3<X / Ans

In long jump competition of class-V boys/girls, measurement of the jumping
distance is as follows:

Laxmi Narain 1 meter 20 centimeter

Preeti = 1 meter 10 centimeter
Reena = 1 meter 70 centimeter
Deepak = 1 meter 30 centimeter
Babita = 1 meter 50 centimeter

(i)  Which student jumped the longest distance?
3<IX / Ans

(i)  What is the shortest distance jumped?
3<X / Ans

g 17 f=foiRed gl &) g Piferg— (3+3=6)

Solve the following questions-

i. TP TR HEH B IR TIBR NI H A BT 80 HIeX T USdT B
a1 A B ST AT DI

To complete four rounds of a square field himanshu has to walk 80 meter,
then find the side of the field.

3N/ Ans

ROUGH WORK
% &



ii. U®H CIg DI IHTE 10 HIex O AISTE 9 Wex B | 39 TIgd &I &5hal
EISECINI
The length and width of a tile is 10 meter and 9 meter respectively, find the
area of this tile.
3N/ Ans

s 18 f=foRad ue=l & g Sfom— (4+4=8)

Solve the following questions

i Qg AT 9 fhar ofier g ferm?

How much liter of milk will we get from the given measurements?

a) 1 + 1 + 1 + 500ml
ofex ofiex ofiex
T ireeeeeees ailex/liter
b) 1 + 500ml + | 200ml
ofiex
T e oire/liter

ii. Ud T UFI DI SH BT SR F WRAT © Sldid Sl & Ad oW ol 39
TH | U 9ER Adrerar & | afe $WR el el Udh T H 25 oile} 9
X TAT AT 1T Al U e H 10 <flex Ul 918X dbrel df 4 8¢ & 91
SHT H Ul BT A fba-l 8RN, Al URY ¥ <l fdeger @rell 81 ?

ROUGH WORK
% T



ROUGH WORK
A water tank is filled by a tap from above while it is emptied by another tap TF ST
at the bottom if the above tap fills with the speed of 25 liter per hour and
the bottom tap drains it with the speed of 10 liter per hour. After 4 hours
what will be the amount of water left in the tank.( imagine initially the tank
was empty)

3<IX / Ans

Sifwel &1 Jaue Ud Yo & gHsT (3iF—8)
Understanding of the data handling and pattern (marks-8)

ge: 19 U U Yed ¥ arrel e 'refl— (1)
2,4, 8, 16, weeeeerrrerrrrreen
(31) 20 @) 24
(|) 32 () 40

The next number of the given pattern is-

2, 4, 8, 16, wovvccereerrrrn
(a) 20 (b) 24
(c) 32 (d) 40
[ ]
e 20 faar war Y gtar 8- (1)
[o) o [o] lo] 0O O OO
0o o O O ooO
0 0 o o o z z zz
(1) T TN BT (@) Byt =il &
@) T el Bl (@) STH A BIg T8l




The following pattern shows to-

o o (o N o} O O OO
o o O O oo
o o o o o O O oo
O O OO
(a) Square number (b) Triangle numbers
(c) Cube number (d) None of the above
[ ]
U 21 TV G SUP! T §RT USH YRET WWIE B AR Ha fhar wan ford
e forRea anfereT a1 — (1+1+1=3)
argd Bl <ol o il
AT ATSfhd W W 1 14
THeR M1 11 7
99 11l 3
DN W1 U1 | 11
TfereT TS FaRN—
1. FIH SART YOR dTel qI8+ DIH 87
B L GO
2. 99 ¥ o SAT&T Whev ToiR?
B L eSO
3. §ol [oR dEAl DI AT RT &7
B L GO

Varun and his team had done survey during the road safety week. From which
thay made the table .—

Name of vehicle Tally marks Numbers
Motor cycle W1 W 14
Scoote H I 7

Bus 1l 3

Car H1 K | 11

See the above table and answer the following question—
1. Which vehicle passes the most?

ROUGH WORK
% HT



ge: 22 foF aiferer # faenfial o demr & P Seifiga amge | o=t
o (&) = 10 faenifal @ gwfar & (1+1+1=3)

E et &1 < SR

L.
IL.

1

Count the number of students in the following table and put the tally marks. Here
the symbol g =10 students.

Class No. of students Tally Number

L.
II.

1

11

ROUGH WORK
I% T



ISR o e e ud Ul uRvg, STagR

urgfies R Q1A W J—ih 2025
fawg — o

DT — 5

- S| BN / FROT Lk AT fargeryor L] qoH /P | AT
s &/ phere we ¥ | OT | VSA |SA | ET | OT [VSA| SA | ET |OT|[VSA| SA | ET |OT|VSA | SA |ET|OT| VSA [SA|ET |OT|[VSA|SA| ET

1 [amefy vd e @ wHe 16 1(1) 1(6) 2(7)

2 [wEdT SE W wEH 1,6,7 2(2) 1(8) 1(6) 4(16)

3 [fpamll 1 w@s 2,3,4,5,7 2(6) 2(12) 1(6) 5(24)

4 [T A WS 1°'111'111'13 1(1) | 1(3) 2(6) 1(8) | 1(1) 1(6) 7(25)

Sifdel & yewed Td Yot

5 & 8,9 2(2) | 2(6) 4(8)
AT 4(4) | 1(3) 2(2) | 6(18) 1(8)|1(1) 3(18) | 1(8) 1(6) 1(6) 1(6) 22(80)
IRt 5(7) 9(28) 5(27) 1(6) 1(6) 1(6)




